-/
% ?\\i,o\"q’; tre brok, operasjonsrekkefolge

StudentName: ExamDate: ExamScore:
1 1
—H1l =11 = - —81+9=
2 6
10+1—1: gxl+l:
2 3 2 2
3 2
—+16+4= —+48 -6 =
2 3
3 1 2 3 1 3
—_F — X — = — 4+ — X — =
2 3 5 2 2 2
3 3 2 1 2 3
_ X _-— - = —_F — X — =
2 5 5 6 3 4
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tre brok, operasjonsrekkefolge

StudentName: ExamDate: ExamScore:

1 3 1 53 5
—+llsll=2=1 ~—81+9=(-2)=(-8>
2 2 6 ) =%

9 1 2 1 1 5

0+]—2=— —9- Sxlpo=2

0 > =73 3727276
3 noo1 2 % 2
2 b 16+d= — —5- L 48 6= 2 —g-
6 >~ 3 T8 F6= 3 =83
3 9 19 31 3 9 1
_—|-_)(_:__:1__ _—|—_X_:_:2_
530 30 2273741 “]

303 2 1 1 2 3 2

—_ X _-— = - —_Ft — X — = =

275 5 2 6 37 3
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